HOW TO SOLVE A COMPLEX NEWTON’S 2ND LAW PROBLEM


1. Draw a Free Body diagram for the object.  Include all contact and distance forces.  Draw from the Center of Mass of the object.
2. Choose an axis of acceleration and place it on the FBD with its right angle partner.
3. DECLARE vector directions
4. Do any ancillary calculations [i.e. Fw = mg  etc…]
5. Write F = ma for one of the axes.

6. Decide how many forces are on the FBD and add that many parentheses sets under the F part of the equation.

7. Substitute with DIRECTIONS, and SOLVE.


